MATH 221 ~ MISSION 7: QUADRADIC FORMS AND ORTHOGONALITY, LEAST SQUARES (30PTS)

"™ Show your work and box answers. This pdf should be printed and your solution should be handwritten
on the printout. Once complete, please staple in upper left corner. Thanks.

Suggested Reading You may find the following helpful resources beyond lecture,

(a.) Chapter 7 and §9.2 of my lecture notes for Math 221
(b.) Chapter 6 and §7.1, 7.2 of Lay’s Linear Algebra

Problem 91: Consider the quadratic form given by

Qz,y) =2 +dzy+1° = (xy] ][9/

Find the diagonalized formula for @ in terms of eigencoordl-nates z, 7.
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Problem 92: Consider the quadratic form given by
— Q(z,y, 2) = 92° + 9y° + 292* + 3.5zy — 6.5z2 — 6.5yz.

Find the diagonalized formila for @ in terms of eigencoordinates Z,7, Z.
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Problem 93: Consider a subspace W of B* which contains the vectors (1,1,2,3) and (1,0,4.5). Find
a basis for W+.
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Problem 94: Find an orthonormal basis for

W =span{(1,1,1,1),(0,1,~1,1),(2,0,2,0)}

by using the Gram-Schmidt algorithm on the given generating vectors. Alsc, find an
orthonormal basis for W,
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Problem 95: Let f(z,y,z) = 9z? + 14sin(zy) + ysinhy + 29¢* — 262(z + y).

(a') Calculate par'tia‘l deriva.ti\{es fm fy; fz: fxm fa:y: f:c'::} fyy: fy:a fz'z

(b.) calculate the multivariate Taylor series based at (0,0,0) up to second order. You

should find that (0,0,0) is a critical point hence f(z,y,2) = £(0,0,0) + Q(z,y,2) +
where the quadratic form @ has matrix with entries fixed by the values of the
second derivatives of f at (0,0, 0):
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(c.) classify the nature of the critical point (0,0,0) by diagonalizing Q. Is the function
mirimized, maximized or is it at a saddle point at the origin ?

Remark: you stumble across o homeless mathematician with chalk in hand scribbling on
the ground, you notice the phrase 78 WAS A GOOD YEAR, strange, what does this mean.
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